el B R 98.12.03

a BIAMRAR - BAE ? vl 2EE —EE RV EE IR P2 A =180

i 2 AT - John would like to marry a talented woman. A talented woman,
right? i a talented woman fFiE{[& utterance # [ ZE(ELE&E{TEE ? John would
like to marry a talented woman. ‘=& PUfE T » WEVURE AT RE 7 BLE (% B E Y
{E4a]1 - Z5—1{& - John would like to marry a talented woman, but he couldn’t find
one. FT LA talented woman ZF(JEAEF5 61 /E 2 in terms of definiteness and
referentiality - Definiteness ELEZELER R Z0it » B ST 2 Feff%128 definite marking
HEZIREBER - One & definite =2 indefinite ? indefinite. But in terms of
referantiality - {72 referring or non-referring g ? non-referring. But he couldn’t
find one.Fif LA R T s BEEHYEE > ARHRME talented woman - indefinite and non-
referring - 28 —{[& » John would like to marry a talented woman and he finally found
one. Referring but indefinite. FRAI{RA% > FrLA indefinite « BT DL one A &5t

t= definite and indefinite ¥R —{E{R/E4EHY marking - indefinite - FR LI A&

T/ definite 1 indefinite 7 marking > [R & T & formal marking - {i¢ formal
FHEREE AT LES H K - {HE referring and non-referring g ? 54874 —{E1E
formal 7y marking B]LLEEH K - 5 =1 > John would like to marry a talented

woman if she is also tall. If, provided, under the condition, she is also tall. fifLLiE 4R



AR (X445 she - supposedly ({44 EA#)E definite B - At — (&1 75
RABESFRIRR » B2 3341 she iTtE—([@ irrealis {17 mode & th > if she is also tall.
B DLiS 385 she o= & definite » (HESEZIE ? 153975 refer 2 23874 refer »
B E e —{E &4 > non-fact, irrealis - 25 VU{{ - John would like to marry a
talented woman but she is dating someone else. 12 2 ME E L ERN ° i #EAY she »
formally 72— definite marker - referring - A specific entity » {REIFH] » 2 {E/)N
/INHY exercise EEATE ]S RIFIE T EEHTY - A Ay A ER formal 7Y
marking, definiteness E [EAVEIAE(TEE - HAaJEhsR » BL5CHY a WA NS

MR E & referring or non-referring °

ABEE T AL ZEE S KHY chapter five = 2458 —{& formal FHVRHEELZE AT
I 7] LAA articles 1 demonstrative - F5iE i (i S PE e FIER U {5 determiners » g2
a J} the i=2F& articles » f1 this, that, these, those i2£t demonstrative - 8 LL 5P
TEER( IR 2 fil7E marking referential coherence of nouns - —E 3% referential,
referential S {E7 - (RETERIGENCEERSE o ABEIBEA LA EHEE T
il - P SGEBERR - Fr AR S #VE &ar » AR TN A e 2 % - 1=
R EAASEY) - HE RS IR EARYRY - (REVES TES ? frll#
| B A ANHYRF M AR PEE 7 35748 - 1288 - WUEFEH - g A E A IR AE
SUERAAMENEY) o Fr AR AME—REE %5 - gh—FF sk referentiality



referentiality » $500% - (R 5 i A ARV DD RERLE 2 FH 2RFE P - a2 At
Ry FAEE S TIVERR - NEENEREMTE ? Le/GE0VEFR ST ? 5L
BB ARIER o FrL S RIMTEEEARE B S (T A = T HEVER -
SR ENE M - 55— (8 ZEET Em Y A HL 2 (A AR PR FE &~ — 1 HY - Existence is
different from reference. [l H (a7 e FE RN RE T ARSI ASY)
HAY ? nlEsEE AN E TR - G e IR BRITZE » IRA] DAGEES © /R
A& —ETEE T - AL ? RNFEAE - FIFEEIRIEB A — Y - B2
F—EFEEENRASEERAE—R - thJT - BE NHEIEET)F - The queen of
England is bold. The queen of England 2 E.FY{FE{ERY 5 1] Z the king of France » )
e RESEEET 2 1 rode a horse. Fine. | rode an unicorn yesterday. /R4 & /& ?
Rifg 7 1§ ? LU R R0 S —(ER A - BIEREEEEIRY entity
AFAAEE(EES o P AT LIS o BT8R ? Fr AR MEA 2 FE8E] the real
world > &= #A real world is part of it - {H2{/RAYFEHER% 22T 1E—{& universe of
discourse o {5 —{& discourse space LA o FTLAESEiE — 4G TT—(
discourse Ky entities * {RATRALIAT » £ —(EEIZ - A—EEEHIAE > A —(E
FEET o EBREIR T ? T2 AE establish S EEFEPY - Al EAE LAY
discourse space ‘&= - So whatever you can establish in a universe discourse, you

can refer to. FrLIIRFI2KE » fEFRAY discourse & » AL/ establish an elf > an



elf lived in a forest » tHEEH E50Z » He lived all by himself and was very lonely. One
day, the old elf met a frog near a pond. EZ;4 ? {R—E 0] LIFEH » #EIRIREIEHD
AIE real #Y o FTLIES LIEIEREEEE - FrANE RS ERRHY discourse &
e R RIS —FERY - ARLAUR establish —{& new reference to your audience.
Introduced a new reference by “a” or “an”; an old elf. Introduce T LL#%& > {/REEE] LA
A5 - F pronoun 2 refer o fit o] DA —(E zero » "2 HEEMHEH —(E
ZEaAY0E - He lived all by himself and “he” was very lonely. 123875 —{& zero » £
(FIET] DIRER 2 R BRTEILA o ZR/&UE > One day, the old elf, the new reference,
52 > given » FeHTHCASE 7 FrPA NEHGEEET LA assume fRAIFHT T > the
elf » FrPA—BrrYER] > "] DIFHAEAR[EIHY discourse universe &t Bt CARITIE (5
—(EE5 BE A #L3H - Initial introduction it indefinite determiner : a, an, some or
any - Subsequent mentioning {/REE R LA definite articles, pronouns, zero anaphor,

names % % demonstrative - 5§t 2 this elf, that elf o B DIA/REE S0 DL AT RS

l

IR determiner » A E B IHRERL 21848

HFATH DA E » PR A[ERY determiners BB FTE BT R ?
—{E AFEH #4sal sz - #ier A —1{E referential intent o 73t EaR - FRE(EAEE
O > MRS YT EE 2 specific or non-specific » HRiE B 54y Y definite,

indefinite B LA referring =& non-referring - IR EE » &2 MM



1y FMEEE—T T - Rich wanted to marry the rich woman he dated. 1R)&%¢ »
definite | H. /& referring - 75 —{ specific £y referring - refer to that entity ; [E]HF »
RENF %0 ¢ the rich woman he dated - Indefinite U8 ? 5t ZmIMIAR{E a : Rich
wanted to marry a rich woman. B u] DIAR{ER]&E : referring or non-referring -
Though she doesn’t know her well, referring, 75— specific entity - Though she
doesn’t know any, non-referring o Fft DARRAS 45 AP 50— (/)N /N B &5 5 L 72
referring, she has a particular woman in mind. Z 52 {/RHY referential intent » i 5
— ([ speaker > {R{F ] woman HYHE{z - you have a particular woman in mind - R
H1 which one - 5 non-referring FYEFEVEREE : there is no particular woman in

mind as | utter a woman. | wish to marry someone at that type. Definite NP must be

referring. Indefinite NP can be either referring or non-referring. #[5 reference iR
modality (1958 (150 2 Supposedly, definite [E:% 2 referring » {H 2 (1 /EE
B r] DL non-referring ? 7% realis HY{&5C » Rich married a rich woman » %[ a
rich woman B2 a > (HEHMETHY interpretation A 2% TIRH] ? ATLAER
YRR E=ZEE » Rich married a rich woman - [ a rich woman 5745 B] £ & non-
referring > no specific reference in mind ? "R A FETEEMNR » R AW EFHIEEE TE—
TEAMNEE T AR - FAELA - FrPUSEE modality #E5K T PA% - BRAREHER T < Ay

LA » Rich married a rich woman though he didn’t know her well. That’s fine. {H/ &R



s RERRE He didn’t know any. 72 S ATRE 1 o AT AT IEEHY 22 VU(E T RE
Ve A—{ERARAYATE < PR T a #YEREELISN » 15 %4 {E A1 * Jogn would like to
marry a talented woman. 1y modality Z{f/& ? 28l 5] T2 —(EIEET » &H)9%
AHY > FTLAAE AR T AE AL modality —3#E3R T LITR > $£(E picture i
T e HhERE M s EERR EE B mission » {REEMEEE - BETERPGRURL - L
TEASEHY § RARAE AR - — A TR o AT DI realis
RIAHE > BIEIRAR - g referring  Fi presupposition gEEUS%E 1
non-challengeable 1y - Mary, a rich woman, bought a fancy car. [} indefinite NP R
modality FYEE &I E — T - Fact » Kti& presupposition i realis assertion ffr.pA €
= referring - 34015 E non-fact - irrealis =& negation » =2 5%¢fH ) : Did he
marry a rich woman? Either referring or non-referring. A5 Wit S EEE & -
grammatical environment fHEHAY a - JEEER » 15 a ZE non-referring » —JE
i — b BRANERES 5 LR R R &SR a & non-referring ? EE—1E - I
ilzE T 0 irrealis - HIFLELE irrealis ? Conditions: If you meet a rich woman, If.
Yes-no questions: Did he meet a rich woman? Command: Go meet a rich woman. fj[i
7 modal auxiliary /Y : He may meet a rich woman. Epistemic adverbs: Maybe. 72
SCER TN ERY - T EEYE F EhEE Ak FE2ERY modality and manipulative verbs > {RE] LA
Fi want » H &0 A)F 00 2 irrealis » AL A A to > future projecting - He



urged him to meet a rich woman. ZR1%#2H — L& non-fact 7Y PCU &fjz4 : image @ 12
SO FRRITR ARy ) T-55 R irrealis - FTLARTAELE irrealis modality i /e A LARR
non-referring 13 noun & - Hist 2 PE2 any HIFAYEF [R5 any, by
definition - 5t/ & non-referring » AL any HEE A FESLE irrealis HY environment ‘&

o

i EZ Ay irrealis modality 2 & BHEERY » ALE B WI{E & non-referring IE ?
habitual tense - [ldIANEZIEEERER > 72 A% LN - FTLZ non-referring - 7
habitual tense g ? He dated a rich woman every Tuesday. & —{EtaFE &R —
{EZCAIZER - 25 R ARME B AR - 7SHF(5 a rich woman ZEEHY —(#E 2
AIEIEYELE referring or non-referring FELIEFYIEF T o 2151 —(E (G FFETER
—(EE T A \IZE - a particular woman in mind > iS5k referring T o Hb4
At A 2 BHER R A [E /Y woman - SR T TS ? Fr AR S Bl AE G
modality and tense aspect AVl iz - Givon g5 habitual EE & irrealis » [R ARG H
specific time point > {RELA]LLAREFAFIRE » AAIERYATRE © AT LAL0SR At 5 — (&
TSFFEERA[RIHY 2 date » {122 A —{ specific reference » {1}-175—1{H type -
fEt R —KEE A FERIZCA - IRiE—3iHY referential intent HUZEE—{E 20 A
MAEEAN » &S » ANES - Type-referring. Nominal predicate t7 525 ©

John is a teacher, not a student. TR B 17 &—(EEEN - TG FH refer | —(F



teacher » —{[ entity - #[5 John is a teacher | admire. 3SR {EF A] LI 2K refer o AL
REIEH > TR EEA 2 A FE referential intent - &5 : John is the teacher
everybody admires. The teacher - {RiEVffEHR — (& specific entity in mind - Verbs

with irrealis semantic modality: He was looking for a tender-hearted girl. Looking for

versus He was dating a tender-hearted girl. 52 &R —%& - 275 — Bh(G M1 HL(E

wants - fig—1&ELET o

T HEFMELEE indefinite /Y any, no, some - Some EERERY > IS any FR some
2 straight forward £y non-referring - He would date any woman. {/i“~gEER He
dated any woman. Modality [ Hi/Z~&HY - He will date no woman. He dated no
woman. ;& E  ATLAZ non-referring < 30 some IUE » Bk o SAEHIRZEZ(T
J&t ? He joined some club yesterday. #[15EifE fact AYEE » i — & = 0 A T —1{E
club » BEZARAKIE - (HE—E & —1E specific club - A[Z4015/E non-fact g ? |
will join some student club. RARE 240 » B AN FIEEW—{E - FrLAE non-
referring - AP T A EEE] LA Z R {EAYARE] - | will join some student club and |
know it welcomes me. ATLIMRIFRE » AIRAK N HIEBZENES » (R EEAVHIRERE
75 —{[& specific referent - | will join that club. T 275 = §EZ non-referring /Y : |
will join some student club, but | don’t know which one yet. Fi LI — X EZE(E a

IR some #f modality Hr[EIfY interaction SEJEH EIEAY - 4F » pronoun UE ? any §f



some fil_F- pronoun DL{& 7475 (s 2 | was looking for books on syntax, and |
found some. Fine. But | couldn’t find any. {HZ{REL-A~EEER : | couldn’t find any. If
anybody or somebody shows up, tell them... ¥ = them » [K A 4E3E avoid him
or her - If anything, something happens...?Z2 26E /R IEE - Someone did it. Someone

may do it. Something happened. Something may happen. But “any” is incompatible

with realis mode. {REENEEEST © Anybody did it. Anything happened. fif L any — 7€
iR irrealis modality & - Referring under the scope of negation. J3 =545 —
Al tricky - PR FIAE 2 —RERE o WA 255 negation i& non-referring 1 2 P&
REE afR any BYR[E - FeffER © 1didn’t see an eagle. | didn’t see any eagle. Fine.
| saw no eagle. Fine. 32 tGE(E non-referring i - 757975 R EELE negation HY scope
=1 345 — 1 referring but indefinite ? | didn’t see an eagle. F ™ il il 57
referring =2 you have a particular eagle in mind. Fr AT E EHE R —EEE » 5t
E—E A ERSRKGHEBEZM - IR TTLIER | didn’t see an eagle ? ATLLiE
BEFIR Y o 3379 an must be referring. It cannot be non-referring. %2 #-2-i—1{&
EEES © FrPMRAREIERA » BT 25 an 7] LA refer §R non-refer 1 7 w]
TIERAE negation (A EAHY - FMTHEF G - /RAEAES | saw
an eagle.fR~gE:7 | didn’t see an eagle. iZ%% | saw an eagle ©] DLJE referring - |

have a particular eagle in mind. XK EEIAY eagle FRFIAHIE S 5EW - FrliTeEr



RIRAMER © You know what, | saw an eagle today. | have a particular eagle in mind. |
know him but you don’t. That’s why | use “a”. Naj » referring definite. | didn’t see
the eagle. E{E)Z A - A—& eagle IRAIEKAY - TS KILHERIM - M
— A {THYELZ referring B} indefinite it o Fo(/EE 7 S {EFRFMILARTEZE] negation
R - Negation Z{fJ& ? Pre-suppositional. The speaker presupposes the hearer’s
belief in the event and the participants. T LLEL/E somehow F & negate 52 FEHD
{i& positive [ counter parts /5 F-FEAVEEEE o The hearer can identify the participants.
It URFRAS TR A BE identify BB - You have no idea HYBRPY » FEFLAEE

So definite means identifiable to the hearer. /KA1 » FA TS E - Fb L= (ER
A non-referring » FTLUE against-zero o ME—AR{THYELZEE > ARIRELE
BT > BLEE definite » R &-F indefinite - JZ5EE T DIER | didn’t see the eagle.
That’s fine. [R kB pre-suppositional. Non-referring FVFE AR FIfiEfE » FeatE 2
A refer > FrPIABERSE - AlEMI{EELEL - Referring, definite =] DL - A Ry BcHs
negation Ky pre-suppositional FYZE3K o FrLAREESHIE] T H—1FE eagle » REEE
&I » that’s fine. Tl ZFRAE AKIER » WEEELE ? DATHRTIE RN EE
LAY a PR the TEMEL(T/EE - 1&ARMENE T AERIRLEICE(EAELE - Ay Givon
CE&EETEmE] referential intent - ti/Ea - FAVEE S R EACE BIHR A » HATH

HBAVEFE - BEEHME VT AR —(ERIEIERY intention - FTPIERAY coding



woe fic & F Y intention UL o By DL SR He K 2 EEE AR vaguely HIE A
something > FitH something o] o Al E 415 F RS HAARE > 5 specific FE{RAIME
Fertersn © Look! There’s a man there. 415 man R #HH%E - [(RBIERIESLHI A
REARE I E N A EEfEE 2 Look at the man with a black hat, sitting on the
chair under the tree. Fir DI/ EEEE 4450 » R/EEEZE describe something ZERK
/Y referential intent 58 o APt 257 0 BE2RE 1 referential intent {REEEE » Fk
BLAS R — ([ 75 (A B IR - IR A 2R the AYRRET —ZBEE2KE > /RAT referential
intent FLEZFIEE - DHHESITIEZRIE - AU AR - AFRE - A IIHEN -
PR IRE NI — Y A5 —Hi— EHal > SEIRE - Ll weak referential
intent 5L2 did you see anything/ something there? Did you see anybody there?/&f~
EHME—BE 2 1R AEYIE] AT - Did you see any man there? {¢ A\JE N FEIE AT o
Did you see some man there? Some X HE4E 1 » a] Llg—{@ - referring - Did you
see a man there? Any, some, a > a X 5542 1 - Did you see a tall man there?fj—
(#4506 - Did you see a tall man wearing a blue shirt there? &~ & X FHEE T

Did you see a tall man there wearing a blue shirt and sitting on a red rock with a hat
in his left hand? (RN EHFERAEZAMEN T 2 TREEER ISR - BT PATESC
st I —(ETR G By 705 - IREi-A HE8EE 2 - Did you see “the” man there?

Did you see John there? it L the man §t27H —%5 &% John » F 4 the FE R IR ITE



RN > B AR ITAEZAIE - EEHaReY referential intent - APz
IR A fi— (S %L EE - fRAY referential intent &£ along two dimensions :
speaker's perspective f§ hearer’s perspective - i3 5t R A R o (/REEBIYEY
{z= constantly FEAE R A KIZE(TEE » RHEIZE(TEE - ArLATE speaker's perspective %
MAERYE © How strongly does the speaker intend to suggest that they are referring to
a particular individual? The, John 52 % strong FY - H3{i& hearer’s perspective > {
FAEAYE - How probable is the NP referring to a specific individual? fiff DLE (@
coding device » fE1ZEC referentiality FY device A - indefinite articles: a > some >
any. Modification: more modification > less modification. #[5 specific N > person >
thing - FLFMIIFESE a, some, any 75 L EEEGAVMES: - FEUE ? HE S (EFf 2 /i
TESBEEA I A TE R - BhEa S AT RVt a A — s -
He’s planning to sell a house. He’s planning to sell houses. 30155 e W EN
Z= BITEIREIE 2 He always meets a girl for lunch. He always meets girls for lunch.
IRl gefEa Y EE L~ —1% T » Z5—{li 5]+ > He’s planning to sell a house. {4
(&l F5F22E - 55 _HJEUE - He's planning to sell houses. 7&)5EHfEE 7] L5E

A —E% - fAVECE S 2T - AR A MR - BEEICENT » BEE
BIFERIAE - AR — KX —RKVEFEH » FEBE—aES - H—1
e Hge R E— S - BT LUREEIERE N - SLANEIVMEEE T -



He always meets a girl for lunch.5it&—{EZ:HY - FR He always meets girls for lunch.
HESE 2N —E T - What did he do last year? Z[I5E#rE7 - He sold houses. 72 &Ait
HYISE - A2 SRR/ o AIFRIREE © He sold a house. & | —{[& 5+ - Plural
NPs down-grade referential intent. 2 2R EEZHY - E{RHEEE > (RIS H refer
— {[i specific entity o %1 5 g 2 refer ] — {i individual entity > {/g 5t 2
individualize 2Z{# 575 - AtLA Plural NPs down-grade referential intent. #5887 7] L)
E1E non-referring even under fact modality. A {18 ? K AR He sold houses. Hf]
EREE » {Rt)97F specific referent in mind A - Non-referring even under fact

modality F 2272 (E= & » He's planning to sell houses. 7 21

FH2Kk > pronoun g reference 1R % - =2 TRAMMIMIE R : one versus he - =
FHELAZEE T - Indefinite pronoun /& one » definite AYEEE he, she, thy i525(t%
5 o EFEEIRMIMIRIAY four way contrast - FEEE¥T recapture —ZX - Richard wants
to marry a rich girl. #1522 definite referring AYZE © but she rejected him. Poor
Richard. Richard is planning to marry a rich girl provided she was also smart. She &
definite form a]/2&/2 non-referring under the irrealis modality. Richard is planning to

marry a rich girl and he finally found one. Indefinite, referring. And he is still looking

for one. Indefinite, non-referring.fx{% > pragmatic effect - Again > S &0 PETE

EAEREFTEEL T specific (50 A AIRE G A — Leris - AlLSfECE 2R subtle Yy »



HIEEERIR aware » 5 SR ROBRERUZAE S - E{REL “On my way home, |
bought a news paper.” versus “On my way home, | bought a book.” H:—F [E]EE(E
EHH9HYE noun G > 2 a book or a news paper - i=RifE A ATE referentiality
FHEEFATARE - EJEER ? & {RER On my way home, | bought a news paper.
& referring or non-referring ? 7 @5 ? Wl Esi 46 H & A SR A P » IR
R EER A AY referent - | bought a news paper FL#Z A B]SE 2 intended non-referring -
One of the type; no specific referent. 7] Z4[15-F On my way home, | bought a book.
PLi A]RE 2 specific book - FirLLiE &8N & —7& pragmatic effect on referent > &

EREAFHY L P B A R Y -

B —(E > 5 BT I EEM A EEESRAY - This versus a. this &2 demonstrative -
this, that —EFRIBAVFEA 1A= this and that - B DAL a8 CA4Ee] -

B2 HEAE R I EEE R | have this friend, his name is John. {EJ2 Al
AFnEZHE friend ? FTLUfE referring (HZ2AZ1R specific - FTLIFKE — T iE
{E)1E - Dear Abby, There’s this guy, 752 1 —FF =1l guy - Abby %7E
LN B E AN AR AT » Ll supposedly - AR A I TR
Al - 4 fE%z7 There is a guy | ‘ve been going with. Indefinite. 26 &7/ 41 -

Referring. 757511/ this 2 i /1] this 7ROFZEHTER @ 1 EEFEHIHTRIT < [ #e]

7 a aJL{Z referring or non-referring - indefinite 1A /Hz% 7 - This i FZLLL a



% T FE 7Y - referring o 35 {14241 /EEEPIEE this a7 L{ = 7F indefinite but
referring #9/#,% - /7L{ this guy - coded ad referring but indefinite, unidentifiable to

you.

[EEFEERAPEIE referring ER definiteness YR (Fue (18 2 ksl i HRREAM L
e (REERFRARELERY - Frafy indefinite Hi/Z a - indefinite Y
range 5% K ? AEELER [EIEREDZ indefinite » S R —EIREEIVES »
Bk By formal marking - BT LAELE a > e —BA46AY anything F a - ¢
formal ZKE » tEtENE identifiability 2k 7E - 5 L0 E indefinite » non-identifiable -
a] 2 HY range 524K ? ffrAY interns of referetiality - ft2AY range B] DAfE Rt weak
F& strong > REMAVE(LE A ? /REY referential intend [y differences 5%k ?
KRBl FOCER - BOR(EE S - fefr vague HYE: weak HY referential
intend > PRIV RIGHTE > & —Haf—Ha » sefIRREE > I
CERRVEEERE T B AR RIRE&AE R A I > you should be
able to identify » Fxry referential intend 24X strong F—(E#2T » (RFEZFIE -
you should be able to identify » ¥f-~¥%t ? H3—1H you are able to identify FYHF (T
A — 'S8 > g 2 the man 7 > A AR A LR the 3E(E definite
marking fi#:E i strongest referential intend » strong ZI|— {255 R A B

PRI A T Psa IR —(E R FRAUAREC - (R the BHEER - ¥UTHLA



1E A % strongest referential intend > you had better know which one > you should
know which one - AfLL a iR the BN SCE EEAVEESD » 2 EH grammaticalized -
A2 referential » FEC WA grammaticalized » FrLIFRFIFESE referring or
non-referring LAY S0 AR 98 AEECHY » FTLUMRGEREE(E range #RH » B DAfE
non-referring —E.Fl| referring > B HE SRS > AR & some R any -
some B DL refer 25 non-refer » ARERELE indefinite BFYiSfEfEST » M E]DLAE
non-referring —E £{R/F4ERY referring » FUFE E—(EHY - IEZHERL4E —1E
the » AT DL T EIFR IS8 5% the » {REE —(EMLZ > the 5t marking strongest
referential intend > A EIRFICLKIRHE > S REREVELSEZ > you know what ?
| bought a TV yesterday » FEI{RA%] > versus | bought the TV yesterday - F {45
ftt—{|& definite marker » fff DLz & —1[& grammaticalized - 38R HI5 TREE—(E
To0 0 s R AR M E referring » [fy HJE the strongest referring - DIE
you should be able to identify » F7LL definite 52 assume the hearer can identify the
specific reference of the NP » ARIR B T &2 E /R A] LL identify ? & 8 & H B
strongest i referential intend - | intend to or refer to a specific entity that you can
identify » ZEERRAEIE ? the reference is identifiable to the hearer » AFHE 95 —f&EE
JUE  JHE referential intend fR5RIRGE > FIZ(RIEEAEE identify - FAEE

B AR R T LA assume {RE] LA identify ZZ{[ reference ? RAIZELIR



freesy identify HY » It~ HAERZ IR AR T > AMTEEEAYEDN - AT LA
assume AV —E AT LL identify » S FLEEIIRA the &H —LERAFHY - H—
Ee Y o (T ERERYE L E ? sources for identiability - the shared background
knowledge - President Wu of Chio-Tung university » /o] LI E#EER > | met the
president » #y4k A EE SV ERY E 48475 - the president of Taiwan - 322t shared HY
background knowledge - =5 —{& shared FY current situation - 7= 5t F il il F (1 7EE
i this fR that f7{f2 by definition » %2 definite » [K & this bottle » F Fy(fJEx
FH this bottle - [ 5 situationally identifiable » F 2L this ER that IU{i#5S %45 >
ALFRBESTE T » IR —EREBIE] > IRELATLL identify » FL{ENY{H shared current
situation » 7EE{#E FHY (A B ER O] LLER the » the window - please close the
door » FeEE—KIE - FIETIESLENR—EFIE ? [K Fy situationally identifialbe >
so it’s either culturally - background knowledge identifiable » 53 & situationally
identifiable - that’s a shared discourse » =GR EIAY » Bl &ei 5 — RS
1y o [ R HAMTRIEIER Y elf AyEcss - AMENU{H discourse establish » £ AiT&R
there is a elf » 2 1&FFiER the elf » = {EPU{H shared discourse » FJ5 situational
based (17 definite g ? i T HAFIMIMIZRAY the LIS » S Lo ETZR - | you we » 3§
{FIHY dietic - fi 2ot PR E = EE YIS ] st BE & s - it ATGEHER AT
gt | IRMIEEEEAVIRHE IR PR 1| - A6 dietic ZRAERHY - IRERIELL



exactly fEFEEIRELE RIS &2 s Eamah - A AP LY speaker fR hearer HJfH
{% > demonstrative tr/E&H M4 this FR that SRR - KRGV RERE
this chair » HAFIEPFAY[EEEEERAYIFEFEE that chair » Ff DUE{EFR=E speaker 7
%% demonstrative t7 2324k > adverb time > {5 now [ today [ » 32 Lot ETE dietic
it gt —H =57 sEEEl 1 - It E B S IR M2/ 2
At B el G R o O A IR SRR BRI R SRS - K
TR > JEFREAESL - IRFIEHGE RS ? AAKE dietic —E 255
st a2 (TR it FTADAME A B BRI - 555 - TIRE%
H#&5% > adverbs of place t/&—1% » here or there 2R3 speaker :EHY > Feafsh
SEAUE here FMEUE there > iEER S TRAEENY—(EE (0 dietic » HPiELEtl
#h e identifiable Il definite » 554} cultural knowledge Y base » shared the universe
PARBGAERE T O0E - RRBEHBEEAEARE » (ReclFB Tk (2R %
il the - i 22 EEEERE » WIERAEIR TAE T - U2t A e Sn B Ed e ¥ 7
a] P identify » culturally based iy definite » the Sun - the Mars » &N FIEC »
Ry BT AA — R - sthERmgr 2 —(E satellites - 552 > BEe AR
A5 - AR REST the moon 1 FME %A S22 which moon - L2 A e
AVELE the - shared the environmental or cultural knowledge - Hi 2Tkl A 5EHY the

president/ the chair /the door/the activity center » FeI1EAT AFEEER » where are



you going > | am going to the student center » IR FI{EBESEHE Tl e S RIHY - I
TIEKIE 2 student center » R —AERYHIEE > T the student center EAETRAHY
environment & th (" shared » S59MERYIRHEHAFTRT T 20 E#a - &iE—Lbn]

RERVEE P —#L activate - fERE% s he bought the house » Fx—F£%] house » 7
house ¥4 HYERPEE A EHRAER A T fE[EIHF & AR E] 2 Fr DARE T 2k Fmt Al LA
£ > the living - "the” & Z}4 ? FkiE4k code X71< you are able to identify » B &
AIEHL A TEE] living room F& B E (RFIEE(E living room » HeB 1727
FENRA] DLATE ? N Ry F A2 E] a house » S {E N {5 involve - frame it /2 — (&
semantic schema > AT ATGERIHER RIZER > FFERIRITAZRIINEIZEE T > | am
going to a restaurant » ZR7& TRt o] LIER the waiter » F b o] DIER the 2 1 have
enough evidence because we share the schema about going to a restaurant » Zh1& A
W E — =P A > fiy father - he told us his father is ill > {RE 8] DA
perceive”his”possessive » [K f&EE AEE CEEHH > he was sent to the emergency
room > emergency room and the doctor - the emergency room HZ8& involve doctor
as identifiable » AT LUE F BB LEIRPUAVIHE - sESA47E-EAC T - Frll the £
EAEE B AR - (RAE B IG EEEEE T retrieve FTARIBEEHINE ? fRE
1EE SR R{E#EAIIF (% > do you have enough evidence to assume ? HSiSfEE]

R > —ZHIRE g —E R TR > ASEEE S TR E(EE 5 - the



assistant helps us - | don’t need to say anything - A& FIEARHE T - Bl
PhoRE —LhEE F RHAVE SR » EERAR A Lk extreme 1Y examples » j5 4L
extreme (Y example Z{1/8 ? BHEAFIG A (TR R R AN » A2 Rt 2 A
definite fy marking - FEHEAERAAR 2N - FTLIAIFEIRE A1E FREHHER A 24 -

AR AR G R M C BRI T T SR eSS L (R
F T1RZ identifiable 7y marker 58355 52 {5 FBHBH LA RIZE Eafe - (RIESR(TE ?
Al E 1 extreme /Y case » 15 /E—m CEAE[EERAHY editorial » HS RyE:
FEIRA SRS extreme » (HEEEEHYIEIRE FSHE extreme - (RAESES|—fH#
AT » IESRSREE 2 & IR3EF] 18 FJEE the article in Newsweek magazine
call it - fRECH » (RAMTERE - MRS REF—RXE » BFIRHERE
(BaF - IREAMERE ? 5aUNTER - T S EEE AR R EE 2 st
P I CAEAIE T - FrMREN 2R — (BB G N 2 ez R E W —
{E ? BN EEERR > AMRtE AFECEVE > sREGTER R B R Rt e
BRa o SRS —TIREEPER - AR RERERERIER A ZERS - K
BRI GEZ AE » IV AEAE - BA R - FIMTREARHE B R —
[EBEES  PEERBUERIREERINC R » MitbRERE - ey
FOUEE » AMEIEE R FATRIRFAIIIR - tholEFEE - RIREES Y
ART - MRFERTHYZRE 8 - A R — T 2% SHI—H - 455 AT 260



HEEUEN—E email - FALE email —FiaFLE » FEETF AN » IREFIE ? 474
SRR - BT DI BRI - AR S SRl e R PVERY > AR A L
st A —E L ERGE » AT B - ARIE R A B] DR
R E XL Tracy - FUEEES email ZRFHERALEVE » Tracy FTRE
ot 7 AME N B EHVEE R GIR PG EE RN - a2 EAECHE Tracy Eat
She thought | could identify her but | couldn’t » [R AE M & EaE T e A H]
EHSE AT Tracy » —EEIE —K » WHE BT EE SRR ERE A
HYBFB BN E]—H _EEEE Tracy Hsu > HECHEH— HZ MRk IR
AU FREE 55 N 2kHY » FeA 4% K18 Tracy Hsu HiZZ23 - text-based HY
definite BLGFCMIMIZERY > 2AE discourse b NICEHHY - & wiIMIFFIANME elf
B9 F-2—1HERY > after the queen says that the king got that > he return to chamber,

lay on the floor, and refuse to talk » #F2&(& 1] » B[EFEH zero » IfHFEE

W}

BEHYE zero o HIFE BT zero > [HET & retrievable » text-based » i
definite {1y - definite Z|—({EHECB AT IS > REIE B EERAEEHT
A B —(EH P IR SRR E - RAEE A T EEZEES AR
Il > P DARIEIRAIZERT > PGSR - finally the king came to gueen - 2t
AR T EEZEE zero FHE » A8 -l stressed fR unstressed pronoun >

HfPH H R pronoun SZARIESERY definite » ALt E T PRI (E R > AIEAT



HFYEEPE » what if | have two possible entities ? FeffiE— N2 fM{E A+ » Bia(d
she FIJiE refer to who > in terms of stress » stress A=y —{EZE S FH S7HY » {REEEE
B R — . stress 48 ? {REEEE—E. stress sEsER/R 20T » Hai ZCEREE - A
P2 stress AYIFIERL—E 2 (11 7 FFPRHVEEE » BLE mark FYIE » ARG
— F Mary told Sussy then she told sally > unstressed unmarked > iZ{f she most
likely refer to ? Mary told Sussy then she told sally » 1@ she refer to 3 ? Gk
TIRT > HINEBIT - EERTS SRR - A& SRR - A E &
fa el 7 JBEHN - the first subject » =0l topic continuity » AR H780Y » BLE
[EfE—{l topic —H F& » Fumt-tH—EEREZL - Frlli B 280V50E Mary
told Sussy then Mary told Sally - iE A4 28 HZRHY @ HVE T stress AVHG(ENE ©
Mary told Sussy then she(stressed) told Sally - ZFt AN IEE T 0 BRI AV ENEER S
KT o FrLUEERHETHEE KSR She £U3E Sussy » FirLA unstressed Hi/g for
NP subject topic continuity - stressed itf&/4 —{& switch of subject - demonstrative
as text-hased definite - i FLEZFIFFIE ME AR IR it 2 that 222 this
HRABSARE - FEJ7HE ? RIS R A T e e s - A
FEHEHY itthis/that - [lE| 4848 - ASEZEH B~ e - mERTE
N SCETE - fEER K text-based HY—7E definite » I it/that/this » BT A ?

FM2E—T > and so she went and did all of it in one day. It sure took some doing



until she got it down all of it » iZ{# it fEF5{1JEE ? versus T [EHY that - and that’s
really what happened if you want to know - #Z75 this is what she did after works >
PR A A FH2HIE T o it FEFEFE(EE ? so she went and did all of it in one day -
EAERARTEEIRA it refer 2—{1 preceding [y entity > 7% & F] DAL —(E % -
Pt {F preceding context @ mention HY B PH » a mentioned entity in the
preceding context - HSffrv] AE 445 » the work » and it sure took some 71 it X -
FIEFEZ(EY work > and she got it down all of it » (it #5245 the work > iFH &
&= MEAT—(E{R 5221 entity in preceding context » F[5 that UE ? 3 AR S a large
chunk of text backward - Z#/EA = E1Z > this ZEEETHY - that EREgSERY > and
that’s what happened - $3# 7 —3HE > IaERIERERRER » AR EIGEL and
that’s what happened yesterday if you want to know - backwards 5t &I HiH zEHY
AT 17— HEZRBFRER and that’s what happened - this IE ? /& a chunk of text
forward - FHLER you know what ? this is what happened: she did something - 55
YWEEREE > IREIRFESE > ALl this B]LL refer to a chunk of text forwards » 1
news &5 ATEFE > IRFIRIESZEIRY news broadcast - Ml {2l &si and that
was the news Wednesday January Nineteenth > this is water quancar > bidding you
good night » water quancar ‘&3 —{E{EHG 4417 anchor man » iZ 52 exactly ffr&:

Kot s ersiny - and that was the news > that B {555 backward 3% /71 »



RIS S0 - B0y /REEA > 542 this is water quancar > this is | am | am here >
this example shows that - in general this fR these /& near #YJ more assessable - that
FR those JELL#UEHY less assessable - E{ERATEEHY - SRAEEIZ A @ (H2
B RA—IEEREZAN - this/that FIRFFE - TOCEEE F e s (6 E S =5
ACEAAEHAE > R AR e S (E A (E S > (PR g A AR AR AR
firs this R that HLE A A [ERIZHEE - (RN B —(Egesrvis iR e=s - JEeRE”
HMEANEFE" » IRELEZAE retrieve something less assessable in your background
lexicon » A DA that”HBEHMEHME" @ /RE B SRS —(Egrs - lexical retrieval »
{RA lexical retrieval FY[ERE - ARAHIERHE IR EME(EER ? B EArgE
lexical retrieval > 78 {ReE S (&S (S E 2 7R local syntax HRI-E » fRAKIHE
ERE T AR local By phrasing - 22 RA AN F lexical knowledge FE1E
long-term knowledge > that ‘Z{RZL retrieve long-term memory HYBEPE - this i &
short-term memory FYRTRE - RATRAEHVEEIR NaR AT LA IRV - this §R
that FI[JEE EZEART - FAGEEH(1/Z generic (VfEE > generic FLiEf - BOZH
refer Z1] specific entity FerkE refer £|—24(E group - 574 EL4H type referring &—
#fidl set 1y > AR iE—EL(l set IR FE A G refer IE ? he is thinkinh about the
lion that kills his cows » {R)E4E4 refer » he is thinking about a lion he once had -

IKz% A refer » he is thinking about buying a lion - iZH¥%{z lion Ft H 154 refer



T - he is thinking about the lion or lions » iZH%{zHY the lion 5§ lions 5225 » ¥f
(HEEILZHE ? FrMRA S AltER - WAEBANER - AZTE - AVZIEE T ?
he is thinking about the lion » 34 A+5 4% a specific lion 2T AEFE 4% lion
HYiEFEERPY - lion as a group » 3Z{EHL generic subject - @& Feffer FH{EE - the
AT - IRECS R E R 2250 - ] DR R E 0 [E] — (A - s—({RElfENA
SIS RSN type referring in subject position > FTLAFR IS generic 264 R
type referring EiA FEIREESTHY - WIERFER the lion is a dangerous animal » F¢r]
LLH definite 7] 2 & refer to the type - Tt v DL plural - lions are dangerous -
EZ2F7E e DL quantify - all lions/most lions/ - again 32 L6322 type referring » &
ZFE ] DA indefinite » a lion is a dangerous animal - 2 E)E4E a lion —E &
referring 22 /2 non-referring ? 52 {; generic - ZI5E-fi/F generic use HYEE ° a
lion is a dangerous animal - referring #2 & non-referring ? FLI{RE 24 0] LA »
T AR EEPEEii ot 5 SRS - INRIREE 7 — 2551 - W2 A ISR » ARE
T & T ERHIHZEEZ A flexibility #y - the BEZAE definite a2 B E 2454
—ERA{EREES - plural AR REREN 8 - EE LU a lion $5FHY72 non-
referring - {H2 in object position 545 2R flexibility T » i2(H freedom » 7F
object FYHE(zE - FMZETH » he thought about the lion or the lions » E (& v D&

type referring =, group referring - T EYE ? he thought about all lions » 2k & he



thought about a lion » ZHE{E(RER a lion » HP{E a lion ¥£)9H generic Y EJEE T »
At LSS a lion 5§t {43242 17 > a lion is a dangerous animal - 72 [ {E 7] DUEVE:
HHBEAS [E]1EE 2 he thought about the lion » JFE'E & realis - 7F realis #Y scope
o {EsZEE > Mgk referring - AR Z SR PE IR E R LIH A% %/
DR TR > FRFAPT S RAEFT A BRI S aE e A E MR P — AR - AR E—
EFET AR B3R FEE2 A E FRHY - fitsh did you see some man ? iE#E{RIE4E » did
you see any man there ? non-referring > did you see some man ? ;R did you see a
man ? iZ W {E Fy{T7E a man Lk some specific —&f: 7 some R a APl 5 2L
A vl 5E referring =¢ non-referring » HS & EEFk:sE a man £ some Y HARfE—

i

B FRAVEREE E a il some ERIEG » a g2 one ATLARtE—ME - FeAVEE:
FIHTREARESEE—(E > 712 some BB AR > 2 some ATLUE BHEEE
B SFGAAVEERLL a BRSO IARE B > this HES 2R that fibLEvesE »
{RZIHAIRPIZE T > MBS (R that SELEIAVERE this LLESZATHY » FTLA
HTHY R PE AR AT BA4G 1 RT7E » so this is what she did after work » FF i {ERHEMR
=52 now that’s what he did - {RF that ZBAY SR PE{R A2 ] that » FEA015E/R A that fR
FEZ e R IR A E LR R - CASEREERTE - BTS2 Pt — (B - this R
that £t » fRHE that RS #EEEAE - BRETEE - IRER you know what ? fiFE KA T

{8 2 this is what she did > fine - B[ Z/[:R that’s what she did » R A% BTLA



that 2 Fij [l backwards - {Re# T TRZZERPE @ AR (% /K& that’s really happened -

that’s what she did » FifTE > backwards » {R&RFy 178 2 Tt HRER 2 (e AT HY
BIRARE - RIS BT HIFAATERTE - versus BITTACH AR » RSG5
RIFHEECA—HEE T » RIREEERABNEENT - BT T 2%
and that was the news for to day - this water quancar » B[ & [TE SR ENE
Sz H N RERIRMR Y o TSSO Y distinctions 2
IR SCEE » RS KA SRR S IEREG R R S M E RN - JuaE S
5 0 BRLES KAVHTEYS ? fgiE et ? sl ko DL ERSRAVETE -

DB EOANRZE  FrL BRI BRI IRE 2 & A this » FBE that 21F(REE
SHAERIRE R - POCREH that - RS RAVHR - K this =& - FrLlE
BT HRAE - WAL referring B’ non-referring S — N /R IHEEH]
RER TS RECEIELE Y ? ELAIERE: | think that 57 1 know that ? FI5{E that
—H% - HME that RN EHE A (RERIEES TAI(E that fhgsES A
42 this - FRA1E A (I S E2 R AR PR (E Rt 222 [ Dear Abby #Y

have this friend - | have this guy » HPEERY this fRIZ3EHY this XA—FE T » BB |
think that » FF3EHY that St~ S BTl that 7Y )% > BRE—(E complementizer
ANE that 175 % E1& Bt e B —(E 75 > whenever {RIZIHIZ 7 —{E 55) > /75E
F that AAREC— (BT & 57 - {F/E0 complementizer - complemetizer giE AL



=C - it introduces a complement as a subordinator clause - fftLL that {{& Ay T-5] »

make it as a complement > 21l complemetizer iZ45 7] DANE ?

Chapter 5 {9 & referring R definiteness » HS$E T 2 Fe A FE 3% B4 verbal
complement » EZ¥r{5KHY reading » Fe&JofE—{E introduction ZR{%% N3
{FIed 20 oy hEfMIzkaT5m - verbal complement » S MIBIAGR > EEREZAY -
FTATCAAER - IR AR - s ZRNE[EE AT - BEFEIAGER
% > (2R verbal complement ? 1R 2 iy Bfysal (& i1 & —(EHHEE - A TTEEEHY
complement » F B HAMTiE L ERTLSSEAF g - P IREEL AE A L EhEE &
I ER to > LR ESE Ving > verb complement fifiE A F e 5%
HMIBE (85T > B (ERTEEfE sentence 5 AT HVERERVEERE - Fralify
complex sentence - {1JEE1l complex versus simple - simple sentence 2k HA—
(%5 - report —{& event » BLZHAVER(E - BN —(EHPY > AIRIRZHHERA
—(EE A NERE > REEWESNE - BiERYLIEERLE report event - FTLL
M EEEE e A W event > ARERAEMIEA T > EIRARIE event HYRFERLEA
FIHEE? — AN H TR - U760 725 A & 7RI E AMRERAR T
(TR 2 AP (E A A (5 ST EE 7 FeMHYBRAE RS HY 2 5 H S —HEAY ?
IRV LL B - (RAEFRBUEER - IREEPREEL TR - IR AR+



AR BERMEIREIRBGE - NFETHAE - SRS 7 & W (E R —
FERVIHE LA SRR (% - ABLN Z RSB (R —EEE /a3 I W {E R
AR SO 554 —[a15E - SRR SE M TR R TEE ? IRAE 8 E AR
TFRERIREFIR G - FIEALEESR 2 EhES REHE - FTLIA main
clause - fiir 77— finite 7 main verb » {IFFIFREAVIEED » SFIRIFE - A& HETE
Y complement > FiE non-finite Y verb » AJDUE to » BJDUE ving & 2 HIFEIR
A DLEREIN—E that &) - WIS [FEZ2R AR - iE5(E that pRFFIMIRIEEAY
backward / forward that ~—75% - =1 that eIk FEE: complementizer - fiii{%
[HI Y clause g —1E complement » i DAF 7212 2551 verbal complement {7
2 H i —7f& complement » EEEEFLF R A0SRIA =F to / ving ¢ that {1 H
KB RN R ? Bt S RA B EN—EE - FAoFIRMIE RS
AR BRI — R - RIREEERAIEZIIRYY - N R ER %
TR > WfBELE P EN— BRI SUAHR MR E g - Al E s
H semantic skill verb g syntax complement verb clause - zEZFR A Z fEHIRRFZ
— Ay > AERIRER E A Z BHVBAIRYF - fFI2 N2 E BRI - M
HRIEEE - EEREMEASERY identity FR[E(K 78 p—(E > SES T
B SRR R A SRR o TR R (SR o (RIS ? AR
fr—{EZEF > BT > she lets go of the light - iZ2/RETEEA—TEAE - M



SO TR E B EREAE—E - A& let go AMEEME—RIBISN - let fR go B
HHSE S - B EFAFL co-lexicalize - i fIUF G R—(E - HbiEHERE
IR AL R R BN » B EIRGEHE 2 let #E—7E go > let/go FERFRHFRZEMH L
HiEE A gap HY - A Ky oy B —REREHIZ (172 7 she makes him shame
make 7& [ $2]5 7 - she lets him go home » [F% > she had him arrested - &fEZR7E#
/& past participle filZA FEZREER > v EEE D EVRZRERY > E=(E
s/ E0UfE bare stand fy complement verb > Fy{/E8s b i i AT > LA
AitrsEdE - SO 2 RIS A E A RS - a2 sEiE1L % report
—{1 event » WiHZ FTLAARERINL report —{[ event 2N fdk 58 EHS I —(EED
e o JRAIEEE R A — (8 A BRSO T > kA T H ERTTREETT > At
EEZHHIA o Fr A A GAEAR AR 2 i RHY - humiliation » 45 e (18
RS T E EIEANKREE  HEMERRKVIRE > BEHRZE
shame/go/arrest 5&4 A B E Y (E1%H)Eq > make/let/had » —{H{K make —{HfR
i 7 make HYEHE - HRFREJZERE] LB —E & intend shame 2 go > A5k 5¢E
EHYERPE - IRIEHE AR R SE IR (IR VBB RE 0 Bt
SR 7 0 WefE B3 make fiigk get o Hpf] B EESHY o 22 EEE A
make him » fAffLL participant b it 2y - Fr AR ~ 2208 ~ AWl 2 ki

/Y > ARE NAkEEE R EsH T 0 she cause him to leave - she told him to leave > she



asks him to leave - she allows him to leave > she wants him to leave > she likes him
to leave > #i& A ER infinite complement - FbiE ELER MY (L Bma 4025 17—
(& to > TRELS 2 FrLARERE LE - JFENEE formal marking L 0 % 7 —1E to -
Pt LAAH AP 9 {1 Y f6f] (ot 2 — 78 - Tl el AR (1] S Tz Byl A s P BR 25 ] _E Y34 - 5
=/ —{# gap » | want him to leave » Ft want FYIFE/RER HAYA leave Fi{E#E:
future projecting - FiTLL to o HAE » U5 - HAY > ATLL to FRZErY R (i ZECFHYRH
1 AN e —5BE > FEAEEIUFE » | would like for him to leave » 267 —{[ to ft X
bL for 2&—2E > FrLL | would like for him to leave » Y Z &G —%8E > Y& indirect
— & DIEEAME —E—#F - SRS ZR(EGERRAVEEIRT 7 - AR s
52T 2 1BIE - FMTETIAYE that T4 » she suggests that he leaves > he should

leave » B2 | wish that he would leave > | wish that he could leave 72 {[& Tk ULk

modal subjunctive - {RATEIERY > IRATE MR TR FELS - SRR R

FERsEE A - A —BAEEE 7 EIER | suggest that you leave » kIR
TARFZEAMEE =M > 58 M2 A ETR—Eh versus | suggest you should leave >
AL AR {1 judgment - AT DIRFEFRIEAYIRH - il 4L —(E epistemic
marking £85% manipulate 7 - | want you to leave now - | suggest you leave now >

AMETRE =AY RS2 BHEERY > A8 T should DAt @A AN E—fERiaM: - 7F



T2k she knew that he had that i she says that he might leave later » Z{EFRE_FEA
AR —1E ? she knew that he had left » & that &) » o] iafElY that a5
(AR —£% 2 ERERA — BRI - AUERIRZA L idea FEFE2ATBHFTKEN
B2 formal fy distinction - form R[EA A —EE - HiIHEIE EHTFHE 7Y
#2017 modal auxiliary - should » 32321 ? 2 n] LAt AT DAATD - TR E S
HIA1 5 FHFRAMHY modality ftf 2 modal aux - 7Z#HY modality 2 (/R modality ?
he should leave/ he could leave fE TN HE|ZEZE > he might leave later gR | think he had
that » SHAYTFHJAY modality £y complement 218 ? | wish he could leave - |
agree he could leave - 3Z BLEZ{f & modality ? deontic =R IR E/E— {415 »
BRI RS ? PR IRA(E— 1 F 15 take some action - H[JZ N EIEEIE ? 2
epistemic 172 certainty - probability » truth FY£IET - FrLUSRIEE R —E0 - 15
i N EEEVE ? FeffPY direct clause > she says that | might leave later - [LER IS Y
(5] > S {EFAPY indirect quotation - [Ny H say fESEhEs > T i (EHAF
direct quotation > {REIR » sE=TEFEr » Fy(tEE direct quotation 32 FH—HERTFHE »

WEAEHRNEMES I A5 HERREEN - ke —FEfRCH e ER

_{.

1Y > IREEAHERPEIRAT - REFEHIEE S - T EIARAA RE bR B HIRH Pl (1
RPGERRA o Bk let go RIERUACE — Rty 17 > AIE S S Wi {E S PR R 22 ]
AL H AT DRI > BRI FIREC W ([ I A o SRR R



A ? T UREAME direct clause - HE AR A AT DU R (E A [E] BS54 > she
says TR 7157 S A% - A2 FEHEAVEETE 2 | might leave later » ZE {EFRIIE
saying k2 A —{F53 2 saying #Y event - —(EZERATAZ - HEtE that T-H)1%
TR P AE R T AT PUZE A AEFRY > FirEA she knows that he had left - {7
FTERT left (HEIRAEAHIE > ATLL knowing HYSERRVEFEIER leaving HYZE(RHY
[ FTDAS BB - AT - that FAR T HARAY SR 2 A ok
AV TR RN AERERY > B2 to B ing RN LR i HAEy - =
FI R < FUsHr E EAES: » sE 5 B —EERC A% - Biacny s SRR
TEREFRA (R B2 iconic AYRA(R - BREGIREEI—(E icon » (REFMIE
BT —H - 3HE LMIRAT - = AR - 5B bt RaT - 58 L
oA EMFIRIER E - that fERERRE T - (feEs LEthRE - SR

Z g IRE 550 Hy complementizer 5 —{E B R ZIRV RS &



